
 
 

 

    

Important
Please read through instruction carefully
Before assembly and keep for future reference.

Nordic Range
Assembly Instructions

92*15*93cm
Dimensions(W x D x H)
WMR-LOF-NOR-1~9727
Product Code



2 person recommended



1

2

3

4



Fittings

A=6 B=6 C=6 D=8

H=1

Q=2
J=1

M6*16 

K=2 G=4V1=8

M4*12

F=3

M5*60

M8*50



3

3

reverse side

4

A=6



4

1



Q=2

H=1



1

2

3



1

2

3



V1=8

1

2

3

K=2



1

23

4

J=1

H=1

G=4



F=3

1

23

4

Ø 8 mm
(5/16")

Ø 8 mm
(5/16")

Ø 3 mm
(1/8")

≈ 30 mm
(≈1 ¼")

≈ 30 mm
(≈1 ¼")

70 mm
(3/4")






	1-01
	1-02
	1-03
	1-04
	1-05
	1-06
	1-07
	1-08
	1-09
	1-10
	1-11
	1-12
	1-13
	1-14

